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1) t(x)=3x"+5 p(x) ==-3x-1
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c) Evaluate
p(x) =-17
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d) Evaluate
t(x) = 118
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The table of valuesand graph show the
cost of a pizza with up to 5 extra toppings.

April 24, 2019
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Cost of a Pizza

o
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IM&:-\' d(.peaav\\
Number of Extra Cost ($)
Toppings
¥\ 6 0 12.{1{}) _‘o.—‘é
1 12.75 <
\ 2 207
2 13.50 .)
3 14.25
9 4 15.00
5 15.75

o

What is the independent variable?

Qost ($)

Thth ol extra ‘opping
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What is the dependent variable ?

o

Cost of pi22a
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How to determine if a table is linear or non-linear

Check Rate of change sttoroncein )
check to see if difference in x gives same rate at every step
Af X X +
ya = o
Oy ﬁi = S—_ =
wel | 2N L by M s
9
141 63 by o 22 - 43 \
21| 84 o
4 *al 1.9 e
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351 10 x tH
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~
The cost for a car rental is $60, plus $20 for every 100 km driven. /
Thg independent variable is the ? and the dependent variable *
is !
We can identify that this is a linear relation in different ways.
Make

a table of values

Distance (km) Cost($) o
0
100

5.6 Properties of Linear Relations
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a table of values

Independent variable — Distance (km) Cost($) «—— Dependent

~ 0 60 variable
1o a0 5 by_ 20
>‘ 100 80 j “ Be” Too
60 a
200 100 =0.9
lov 300 120 = ao -

100 a0
400 140 — \\ “.L
N

Rate o' Change, . soe %

S
: M . :
change in dependent variable _ rise
rate of change= -

change in independe% variable

Rate of change for this question is

Cake of change = Ay
AX
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We can use each representation
to calculate the rate of change.
a graph Car Rental Cost
160
Ay _ Fse 15 ange in
B‘& - -(-'ll._ll = 125 £T% endent variable
v T —+ Li:Jia” ge in
— 4O 'E' 1 mlependant variable
+200 I dal I
Depandent |/ =
- varlable
0.2 0] igo! 400 | 500
{
R Independant variable
The rate of change can be expressed as a fraction:
¢ | Rate of Change =_change in dependent - Jdise
change in independent run
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a) Graph each equation.
i) y=—-3x+25

SOLUTION
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Determining whether an Equation Represents
a Linear Relation

a) Create a table of values, then graph the relation.
i) y=—-3x+25

DX x ¥ Ag x‘"«é“ 5:%?'4'—
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Determining whether aj Equation Represents

X
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) x=1 \Jevd e gapn

Determining whether an Equation Represents
a Linear Relation

| X

o Oy __\_

1 _ -
o a . 5 O,
o 1 0 .

| | 31. ) \.\'\62.":—\‘\4

NOTICE o o
b) The graphs in parts i, iii, and iv are straight lines, so the

equations represent linear relations; that is, y = —3x + 25,

y=5and x= L.
The graph in part ii is not a straight line, so its equation does
not represent a linear relation.
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Example 4 Determining the Rate of Change of a Linear
: Relation fromIts Graph

A water tank on a farm near Switt Current, Saskatchewan, holds 6000 L.
Graph A represents the tank being filled at a constant rate.
Graph B represents the tank being emptied at a constant rate.

Graph B
Graph A Emptying a Water Tank
Filling a Water Tank v
3{}+{}
3{}+{} v =
Ly - {}&0
. hogo £
_E -5 ETatine
—— "
mTatilal
t 0l 40|80 120
0] lap | 80 120 T a(*n.i.rr\
TP .

a) Identify the independent and dependent variables.

b) Determine the rate of change of each relation, then describe what it represents.
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Homework
Test Wed. May 1

Page: 308-310

Questions: 3, 4,50 i),
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